

Research Article

Yahya Almalki, Mohamed Abdalla*, and Hala Abd-Elmageed

Results on the modified degenerate Laplace-type integral associated with applications involving fractional kinetic equations

<https://doi.org/10.1515/dema-2023-0112>

received October 17, 2022; accepted August 15, 2023

Abstract: Recently, integral transforms are a powerful tool used in many areas of mathematics, physics, engineering, and other fields and disciplines. This article is devoted to the study of one important integral transform, which is called the modified degenerate Laplace transform (MDLT). The fundamental formulas and properties of the MDLT are obtained. Furthermore, as an application of the acquired MDLT, we solved a simple differential equation and fractional-order kinetic equations. The outcomes covered here are general in nature and easily reducible to new and known outcomes.

Keywords: degenerate functions, modified degenerate Laplace transforms, fractional kinetic equations

MSC 2020: 34A08, 44A10, 44A20

1 Introduction

The study of integral transforms is a growing field of research that has become a fundamental tool in solving several fractional differential equations in mathematical physics, mathematical statistics, mathematical modeling, control theory, mathematical biology, and other scientific fields (see, e.g., [1–6]). One particular integral transform that frequently appears in recent studies and applications is the Laplace transform (see, e.g., [7–11]). In recent years, various generalizations of this transform have been proposed by many authors, for instance, Akel et al. [12], Ortigueira and Machado [13], Jarad and Abdeljawad [14], Ganie and Jain [15], and others [16,17].

Nowadays, application of the Laplace transform on fractional kinetic equations involving different special functions such as the Mittag-Leffler function, the Galué Struve function, the generalized Galué type Struve function, the Hurwitz-Lerch zeta function, the extended τ -Gauss hypergeometric function, the (p, q) -extended τ -hypergeometric and confluent hypergeometric functions have been discussed by several researchers, e.g., the reader may refer to recent works [4,18–25].

Gaining insight from the recently mentioned works, in this study, we discuss further properties and applications of the modified degenerate Laplace integral transform (MDLIT) [26,27], which is a generalization of the Laplace transform. This article is organized as follows: in Section 2, we investigated the convergence properties, the transition theorem, and the convolution theorem of the MDLIT; the composition formulas for the differential and integral operators with the MDLIT are considered in Section 3; as clarification of the applications to the general theory of differential equations and fractional differential equations, a simple

* **Corresponding author: Mohamed Abdalla**, Department of Mathematics, College of Science, King Khalid University, Abha 61413, Saudi Arabia, e-mail: moabdalla@kku.edu.sa, mabdomath85@gmail.com

Yahya Almalki: Department of Mathematics, College of Science, King Khalid University, Abha 61413, Saudi Arabia, e-mail: yalmalki@kku.edu.sa

Hala Abd-Elmageed: Department of Mathematics, Faculty of Science, South Valley University, Qena 83523, Egypt, e-mail: halla_mohamed2010@svu.edu.eg

ordinary differential equation, and fractional kinetic equations are solved by the MDLIT method in Section 4; and finally, we append a conclusion on the outcomes in Section 5.

2 The MDLIT and some properties

In recent years, there have been a wide variety of studies involving various degenerate functions and polynomials with various applications (see, e.g., [26–35]). Especially, Kim and Kim [28] defined the degenerate Laplace integral transform for $\lambda \in (0, \infty)$ as follows:

$$\mathcal{F}(\varphi) = \mathbb{L}_\lambda(\varphi) = \mathfrak{L}_\lambda\{f(\eta); \varphi\} = \int_0^\infty (1 + \lambda\eta)^{-\frac{\varphi}{\lambda}} f(\eta) d\eta, \quad (1)$$

provided that the improper integral converges and $(1 + \lambda\eta)^{-\frac{\varphi}{\lambda}}$ is the kernel of the transformation. This was motivated by the degenerate exponential function of two variables, which is defined as follows:

$$e_\lambda^\eta = (1 + \lambda\eta)^{\frac{1}{\lambda}}, \quad \lambda \in (0, \infty). \quad (2)$$

It is clear that $\lim_{\lambda \rightarrow 0} e_\lambda^\eta = e^\eta$. The authors also investigated some properties and formulas related to the degenerate Laplace transformation in [28].

Within this framework, Kim et al. [26] introduced the MDLIT of a function $f(\eta)$ by the form

$$\mathcal{ML}_\lambda(\varphi) = \mathbb{ML}_\lambda\{f(\eta); \varphi\} = \int_0^\infty (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta, \quad (\lambda \in (0, \infty), \operatorname{Re}(\eta) \geq 0). \quad (3)$$

Note that $\lim_{\lambda \rightarrow 0} (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} = e^{-\varphi\eta}$ and also that equation (3) becomes the following classical Laplace transform:

$$\mathcal{ML}(\varphi) = \mathbb{ML}\{f(\eta); \varphi\} = \int_0^\infty e^{-\varphi\eta} f(\eta) d\eta. \quad (4)$$

In addition, we can state the linearity of the MDLIT (equation (3)) as follows:

$$\mathbb{ML}_\lambda\{\alpha_1 f(\eta) + \alpha_2 g(\eta); \varphi\} = \alpha_1 \mathbb{ML}_\lambda\{f(\eta); \varphi\} + \alpha_2 \mathbb{ML}_\lambda\{g(\eta); \varphi\},$$

where α_1 and α_2 are coefficients independent of η .

Furthermore, if we refer to the kernel function $\mathcal{K}(\varphi, \eta) = (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}}$, then we have the following relation:

$$\mathcal{D}_{1,\mu}^{\beta,\lambda}(t) = \int_0^\infty \varphi^{\beta-1} \mathcal{K}(\varphi, 1) e^{\frac{-t}{\varphi^\mu}} d\varphi. \quad (5)$$

As an example, the MDLIT of some basic functions can be obtained immediately from the following Axiom.

Axiom 2.1 The following formulas hold true:

$$\mathbb{ML}_\lambda\{\eta^{\varrho-1}; \varphi\} = \left[\frac{\lambda}{\log(1 + \lambda\varphi)} \right]^\varrho \Gamma(\varrho) (\lambda \in (0, 1], \varphi, \varrho \in \mathbb{C}, \operatorname{Re}(\varphi) > 0, \operatorname{Re}(\varrho) > 0), \quad (6)$$

$$\mathbb{ML}_\lambda\{e^\eta; \varphi\} = \frac{\lambda}{\log(1 + \lambda\varphi) - \lambda} \quad (\operatorname{Re}(\varphi) > 0, \lambda \in (0, 1]), \quad (7)$$

$$\mathbb{ML}_\lambda\{\sin(\eta); \varphi\} = \frac{\lambda^2}{(\log(1 + \lambda\varphi))^2 + \lambda^2}, \quad (\operatorname{Re}(\varphi) > 0, \lambda \in (0, 1]), \quad (8)$$

and

$$\mathbb{ML}_{\lambda}\{\cosh(\eta); \varphi\} = \frac{\frac{\log(1+\lambda\varphi)}{\lambda}}{\left(\frac{\log(1+\lambda\varphi)}{\lambda}\right)^2 - 1}, \quad (\operatorname{Re}(\varphi) > 0, \lambda \in (0, 1]). \quad (9)$$

Remark 2.1. For $\lambda \rightarrow 0$ in Axiom 2.1 and using the transform (4), we obtain the corresponding results for the classical Laplace transform as follows:

$$\mathbb{ML}\{\eta^{q-1}; \varphi\} = \frac{1}{\varphi^q} \Gamma(q) \quad (q, \varphi \in \mathbb{C}, \operatorname{Re}(q) > 0, \operatorname{Re}(\varphi) > 0), \quad (10)$$

$$\mathbb{ML}\{e^{\eta}; \varphi\} = \frac{1}{\varphi - 1} \quad (\varphi \in \mathbb{C}, \operatorname{Re}(\varphi) > 1), \quad (11)$$

$$\mathbb{ML}\{\sin(\eta); \varphi\} = \frac{1}{\varphi^2 + 1}, \quad (\varphi \in \mathbb{C}, \operatorname{Re}(\varphi) > 0), \quad (12)$$

and

$$\mathbb{ML}\{\cosh(\eta); \varphi\} = \frac{1}{\varphi^2 - 1}, \quad (\varphi \in \mathbb{C}, \operatorname{Re}(\varphi) > 0). \quad (13)$$

Now, we present the convergence property, translation theorem, and convolution theorem of the MDLIT defined in equation (3), which were not discussed by Kim et al. [26].

2.1 Convergence property

The convergence property for the MDLIT is given in this section by Theorem 2.1 below. First, we present the following lemma, which is needed in the proof of the theorem.

Lemma 2.1. If $f(\eta)$ is integrable over a finite interval (x, y) , $0 < x < \eta < y$, and $\lambda \in (0, \infty)$ with $\varepsilon \in \mathbb{R}$ such that,

(i) for

$$\int_y^z e^{-\varepsilon\eta} f(\eta) d\eta > 0,$$

resort to a finite limit as $z \rightarrow \infty$.

(ii) for

$$\int_{\xi}^x |f(\eta)| d\eta < \infty \quad x > 0,$$

resort to a finite limit as $\xi \rightarrow 0^+$.

Then, the MDLIT $\mathbb{ML}_{\lambda}\{f(\eta); \varphi\}$ exists for $\operatorname{Re}\left(\frac{\log(1+\lambda\varphi)}{\lambda}\right) > \varepsilon$ for $\varphi \in \mathbb{C}$.

Proof. If x and ξ are arbitrary ($\xi < x$) and $\varepsilon > 0$, then we have

$$\left| \int_{\xi}^x (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta \right| \leq \int_{\xi}^x e^{-\varepsilon\eta} |f(\eta)| d\eta \leq \int_{\xi}^x |f(\eta)| d\eta, \quad (14)$$

and for $\varepsilon < 0$, we observe that

$$\left| \int_{\xi}^x (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta \right| \leq \int_{\xi}^x e^{-\varepsilon\eta} |f(\eta)| d\eta \leq e^{-\varepsilon x} \int_{\xi}^x |f(\eta)| d\eta. \quad (15)$$

From (ii), the integral

$$\int_0^x (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta \quad (16)$$

exists for arbitrary positive values of x . Therefore, by using the given conditions in addition to the properties of the integral

$$\int_0^z (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta = \left(\int_0^x + \int_a^y + \int_y^z \right) (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta, \quad (17)$$

we arrive at the required result at $z \rightarrow \infty$ \square

Theorem 2.1. Assume that

- (i) $f(\eta)$ is integrable over a finite limit (x, y) , $0 < x < \eta < y$,
- (ii) for arbitrary positive x , the integral $\int_{\xi}^x |f(\eta)| d\eta$ resort to a finite limit as $\xi \rightarrow 0^+$,
- (iii) $f(\eta) = O(e^{\varepsilon\eta})$, $\varepsilon > 0$ as $\eta \rightarrow \infty$, where $O(\cdot)$ is the standard big O notation, which means $f(\eta)$ is of order not exceeding $e^{\varepsilon\eta}$.

Then, the MDLIT defined in equation (3) converges absolutely if $\operatorname{Re}\left(\frac{\log(1 + \lambda\varphi)}{\lambda}\right) > \varepsilon$, $\lambda > 0$.

Proof. By using Lemma 2.1 and fundamental integrals, we can easily obtain the proof of Theorem 2.1. The details are omitted. \square

Corollary 2.1. Under the conditions of the hypothesis in Theorem 2.1 and $\lambda \rightarrow 0$, the Laplace integral transform $\mathcal{ML}(\varphi)$ defined in equation (4) converges absolutely for $\operatorname{Re}(\varphi) > \varepsilon$.

2.2 Transition and convolution theorems

The following theorem shows the rule for transition on the η -axis.

Theorem 2.2. Let χ be a nonnegative real number, $\lambda \in (0, 1)$, and $\mathcal{F}(\varphi) = \mathbb{ML}_{\lambda}\{f(\eta); \varphi\}$, where $f(\eta) = 0$ for $\eta < 0$, then MDLIT of $f(\eta - \chi)$, where $f(\eta - \chi) = 0$ for $\eta < \chi$, is represented as follows:

$$\mathbb{ML}_{\lambda}\{f(\eta - \chi); \varphi\} = [1 + \lambda\varphi]^{-\frac{\chi}{\lambda}} \mathcal{F}(\varphi). \quad (18)$$

Proof. For this proof, we consider a function $f(\eta)$ such that $f(\eta) = 0$ for $\eta < 0$. Let $f(\eta - \chi)$ be the function obtained by transiting the η -axis by an amount $\chi > 0$. Note that $f(\eta - \chi) = 0$ for $\eta < \chi$. Thus, we obtain the MDLIT of $f(\eta - \chi)$ as follows. By changing the variable $\eta = \theta - \chi$ in the definition of MDLIT given in equation (3), we have

$$\mathcal{F}(\varphi) = \int_{\chi}^{\infty} f(\theta - \chi) [1 + \lambda\varphi]^{-\frac{\theta - \chi}{\lambda}} d\theta. \quad (19)$$

Multiplying both sides by $[1 + \lambda\varphi]^{-\frac{\chi}{\lambda}}$, we have

$$\mathcal{F}(\varphi)[1 + \lambda\varphi]^{-\frac{\chi}{\lambda}} = \int_{\chi}^{\infty} f(\theta - \chi)[1 + \lambda\varphi]^{-\frac{\theta}{\lambda}} d\theta. \quad (20)$$

Since $f(\theta - \chi) = 0$ for $\theta < \chi$, $\chi \geq 0$, we obtain

$$\mathcal{F}(\varphi)[1 + \lambda\varphi]^{-\frac{\chi}{\lambda}} = \int_0^{\infty} f(\theta - \chi)[1 + \lambda\varphi]^{-\frac{\theta}{\lambda}} d\theta = \mathbb{ML}_{\lambda}\{f(\theta - \chi); \varphi\}. \quad (21)$$

By changing the variable θ to η , we arrive at the required result (equation (18)). \square

Next, we prove the rule for the convolution of two functions.

Theorem 2.3. (Convolution theorem) For $\lambda \in (0, 1]$ and let $\mathcal{F}(\varphi)$ and $\mathcal{G}(\varphi)$ be the MDLIT of functions $f(\eta)$ and $g(\eta)$, respectively, then the convolution $\mathcal{F}(\varphi) * \mathcal{G}(\varphi)$ is the MDLIT of the function $\int_0^{\eta} f(\eta - \chi)g(\chi)d\chi$ as follows:

$$\mathcal{F}(\varphi) * \mathcal{G}(\varphi) = \mathbb{ML}_{\lambda}\left\{\int_0^{\eta} f(\eta - \chi)g(\chi)d\chi; \varphi\right\} = \mathbb{ML}_{\lambda}\{f(\eta); \varphi\}\mathbb{ML}_{\lambda}\{g(\eta); \varphi\}. \quad (22)$$

Proof. Consider the following product:

$$\mathcal{F}(\varphi) * \mathcal{G}(\varphi) = \int_0^{\infty} f(\theta)[1 + \lambda\varphi]^{-\frac{\theta}{\lambda}} d\theta \int_0^{\infty} g(\vartheta)[1 + \lambda\varphi]^{-\frac{\vartheta}{\lambda}} d\vartheta. \quad (23)$$

Since the integrals are uniformly convergent, we find that

$$\mathcal{F}(\varphi) * \mathcal{G}(\varphi) = \int_0^{\infty} \int_0^{\infty} f(\theta)g(\vartheta)[1 + \lambda\varphi]^{-\frac{\theta+\vartheta}{\lambda}} d\theta \wedge d\vartheta, \quad \theta > 0, \quad \vartheta > 0, \quad (24)$$

where \wedge denotes the wedge product. Setting $\eta = \theta + \vartheta$ and $\chi = \vartheta$, the differential in the (η, χ) -plane is $d\theta \wedge d\vartheta = \mathbf{J}d\eta \wedge d\chi = d\eta \wedge d\chi$, where \mathbf{J} is the Jacobian. Hence, the new domain of integration is between the η -axis and the line $\eta = \chi$ in the first quadrant, thus we obtain

$$\mathcal{F}(\varphi) * \mathcal{G}(\varphi) = \int_0^{\infty} [1 + \lambda\varphi]^{-\frac{\eta}{\lambda}} \left(\int_0^{\eta} f(\eta - \chi)g(\chi)d\chi \right) d\eta. \quad (25)$$

This completes the proof. \square

3 Differential and integral operators

The composition representations for the MDLIT with differential and integral operators are established in the following theorem.

Theorem 3.1. For $\lambda \in (0, 1]$ and $\mathcal{F}(\varphi) = \mathbb{ML}_{\lambda}\{f(\eta); \varphi\}$, we have

(i)

$$\mathbb{ML}_{\lambda}\{f^{(m)}(\eta); \varphi\} = \left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\}^m \mathcal{F}(\varphi) - \sum_{k=1}^m \left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\}^{m-k} f^{(k-1)}(0^+), \quad (26)$$

provided that $f(\eta)$ and its derivatives up to order m exist, and

$$f(0^+) = \lim_{\varsigma \rightarrow 0} f^{(k-1)}(0^+ + \varsigma).$$

(ii)

$$\mathbb{ML}_\lambda \{f^{(-m)}(\eta); \varphi\} = \left\{ \frac{\lambda}{\log(1 + \lambda\varphi)} \right\}^m \mathcal{F}(\varphi) - \sum_{k=1}^m \left\{ \frac{\lambda}{\log(1 + \lambda\varphi)} \right\}^{m-k+1} f^{(-k)}(0^+), \quad (27)$$

provided that $f(\eta)$ and its integrals up to order m exist.

(iii)

$$\mathfrak{D}^m \{ \mathcal{F}(\varphi) \} = \left\{ \frac{\lambda}{(1 + \lambda\varphi)} \right\}^m \mathbb{ML}_\lambda \left\{ (-1)^m \left(\frac{\eta}{\lambda} \right)_m f(\eta); \varphi \right\}, \quad (28)$$

where $\mathfrak{D}^m = \frac{d^m}{d\varphi^m}$, $\operatorname{Re}(\varphi) > 0$.

Proof. The result (i) is established in Theorem 9 in the study by Kim et al. [26].

To prove (ii), let $f(\eta)$ be an integrable function such that

$$\int_0^\eta f(\chi) d\chi = \int f(\eta) - f^{(-1)}(0^+), \quad (29)$$

where $f^{(-1)}(0^+) = \int f(\eta) d\eta|_{\eta=0}$. Applying integration by part and the transformation in equation (3), we obtain

$$\mathcal{F}(\varphi) = f^{(-1)}(0^+) + \frac{\log(1 + \lambda\varphi)}{\lambda} \mathbb{ML}_\lambda \{f^{(-1)}(\eta); \varphi\}. \quad (30)$$

Applying integration by parts $m - 1$ times and after minor simplification, we obtain the desired result in (ii).

To demonstrate (iii), by employing relation (3), we see that

$$\frac{d}{d\varphi} \mathcal{F}(\varphi) = \int_0^\infty \frac{\lambda}{1 + \lambda\varphi} \left(-\frac{\eta}{\lambda} \right) (1 + \lambda\varphi)^{-\frac{\eta}{\lambda}} f(\eta) d\eta = -\frac{1}{1 + \lambda\varphi} \mathbb{ML}_\lambda \{ \eta f(\eta); \varphi \}.$$

Recursive application of this procedure eventually gives the asserted result in (iii). \square

Many special cases can be obtained from Theorem 3.1, such as the following corollaries:

Corollary 3.1. For all $\lambda \rightarrow 0$ in (i) of Theorem 3.1 and by virtue of the integral equation (4), we have

$$\lim_{\lambda \rightarrow 0} \mathbb{ML}_\lambda \{f^{(m)}(\eta); \varphi\} = \varphi^m \mathcal{F}(\varphi) - \sum_{k=1}^m \varphi^{m-k} f^{(k-1)}(0^+) = \mathbb{ML} \{f^{(m)}(\eta); \varphi\}.$$

Corollary 3.2. For all $\lambda \rightarrow 0$ in (ii) of Theorem 3.1, and by invoking of the integral in equation (4), we have

$$\lim_{\lambda \rightarrow 0} \mathbb{ML}_\lambda \{f^{(-m)}(\eta); \varphi\} = \left(\frac{1}{\varphi} \right)^m \mathcal{F}(\varphi) - \sum_{k=1}^m \left(\frac{1}{\varphi} \right)^{m-k+1} f^{(k-1)}(0^+) = \mathbb{ML} \{f^{(-m)}(\eta); \varphi\}.$$

Remark 3.1. For $m = 1$ and $\lambda \in (0, 1]$ in (iii) of Theorem 3.1, we obtain a known result in Theorem 10 in the study by Kim et al. [26].

Remark 3.2. Many particular addenda of the similar results for the classical Laplace transform can be inserted from the previous results for $\lambda \rightarrow 0$, (see, e.g., [1,7]).

4 Applications

4.1 Ordinary differential equation

Example 4.1. *Second-order initial value problem*

Let us solve the following differential equation to determine $U(\eta)$:

$$z''(\eta) + z(\eta) = 2 \exp(\eta), \quad z(0) = 1, \quad \text{and} \quad z'(0) = 2. \quad (31)$$

Suppose that the MDLIT of $z(\eta)$ be $Z(\varphi)$. Taking the MDLIT on both sides of equation (31), using the relation (26), and from Proposition 2.1, we arrive at

$$\begin{aligned} \mathbb{ML}_{\lambda}\{z''(\eta); \varphi\} + \mathbb{ML}_{\lambda}\{z(\eta); \varphi\} &= 2\mathbb{ML}_{\lambda}\{e^{\eta}; \varphi\} = \left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\}^2 Z(\varphi) - \left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\} - 2 + Z(\varphi) \\ &= \frac{2}{\left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\} - 1}. \end{aligned}$$

After simplification, we have

$$Z(\varphi) = \frac{1}{\left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\} - 1} + \frac{1}{\left\{ \frac{\log(1 + \lambda\varphi)}{\lambda} \right\}^2 + 1}.$$

We thus obtain the solution in the form

$$Z(\eta) = \exp(\eta) + \sin(\eta). \quad (32)$$

Remark 4.1. The method presented here by the MDLIT can be used to solve any other differential equations.

4.2 Solve fractional kinetic equations

If an arbitrary reaction is characterized by a time-dependent $X = X(\eta)$, then the rate of change $\frac{dX(\eta)}{d\eta}$ is given as follows:

$$\frac{dX(\eta)}{d\eta} = -\phi + \psi,$$

where ϕ is the destruction rate and ψ is the production rate of X .

Mathai and Haubold [36] established a functional differential equation involving the rate of change of reaction, the destruction rate, and the production rate as follows:

$$\frac{dX(\eta)}{d\eta} = -\phi(X_{\eta}) + \psi(X_{\eta}), \quad (33)$$

where $X = X(\eta)$ is the rate of reaction, $\phi(X_{\eta})$ is the rate of destruction, $\psi(X_{\eta})$ is the rate of production, and X_{η} denotes the function defined by $X_{\eta}(\eta^*) = X(\eta) - \eta^*$, $\eta^* > 0$.

A special case of equation (33), when spatial fluctuations or homogeneities in the quantity $X(\eta)$ are neglected, is given by the following differential equation (Saxena et al. [18]):

$$\frac{dX_i(\eta)}{d\eta} = -\varepsilon_i X_i(\eta), \quad (34)$$

where initial condition $X_i(\eta = 0) = X_0$ is the number of density of species i at time $\eta = 0$, $\varepsilon_i > 0$. Solution of standard kinetic equation (34) is given in the form

$$X_i(\eta) = X_0 e^{-\varepsilon_i \eta}. \quad (35)$$

By omitting the index i and integrating standard kinetic equation (34), we have

$$X(\eta) - X_0 = -\varepsilon_0 {}_0\mathbb{D}_\eta^{-1} X(\eta), \quad (36)$$

where ${}_0\mathbb{D}_\eta^{-1}$ is standard integral operator. Saxena et al. [19] obtained the fractional generalization of the standard kinetic equation (34) as follows:

$$X(\eta) - X_0 = -\varepsilon_0 {}_0\mathbb{D}_\eta^{-\varsigma} X(\eta), \quad (37)$$

where ${}_0\mathbb{D}_\eta^{-\varsigma}$ is Riemann-Liouville fractional integral operator defined by Mathai and Haubold [36] as follows:

$${}_0\mathbb{D}_\eta^{-\varsigma} f(\eta) = \frac{1}{\Gamma(\varsigma)} \int_0^\eta (\eta - \tau)^{\varsigma-1} f(\tau) d\tau, \quad \operatorname{Re}(\varsigma) > 0. \quad (38)$$

Saxena et al. [18,19] introduced a modification to the fractional kinetic equation (37) as follows:

$$X(\eta) - \eta^{\omega-1} X_0 = -\varepsilon_0 {}_0\mathbb{D}_\eta^{-\varsigma} X(\eta), \quad \operatorname{Re}(\varsigma) > 0, \operatorname{Re}(\omega) > 0. \quad (39)$$

In the study by Mathai et al. [36] and Mathai and Haubold [20], another modification of the fractional kinetic equation (37) is given as follows:

$$X(\eta) - \eta^{\omega-1} X_0 \mathbf{E}_{\varsigma, \omega}^\delta(-\varepsilon_0 \eta^\varsigma) = -\varepsilon_0 {}_0\mathbb{D}_\eta^{-\varsigma} X(\eta), \quad \operatorname{Re}(\varsigma) > 0, \operatorname{Re}(\delta) > 0, \operatorname{Re}(\omega) > 0, \quad (40)$$

where $\mathbf{E}_{\varsigma, \omega}^\delta(\cdot)$ is the generalized Mittag-Leffler function defined in the study by Prabhakar in [37].

Now, we use the MDLIT to solve the fractional extensions of the kinetic equations (37), (39), and (40).

The following lemma is required to prove the subsequent results.

Lemma 4.1. Let $\lambda \in (0, \infty)$ and $\varsigma \in \mathbb{C}$ with $\operatorname{Re}(\varsigma) > 0$, then we have

$$\mathbb{ML}_{\lambda \{0\}} \{ {}_0\mathbb{D}_\eta^{-\varsigma} f(\eta); \varsigma \} = \left\{ \frac{\lambda}{\log(1 + \lambda \varphi)} \right\}^\varsigma \mathbb{ML}_{\lambda \{ \}} \{ f(\eta); \varsigma \}. \quad (41)$$

Proof. From (3) into (38), we have

$$\mathbb{ML}_{\lambda \{0\}} \{ {}_0\mathbb{D}_\eta^{-\varsigma} f(\eta); \varphi \} = \frac{1}{\varsigma} \int_0^\infty \int_0^\eta (1 + \lambda \varphi)^{-\frac{\eta}{\lambda}} (\eta - \tau)^{\varsigma-1} f(\tau) d\tau d\eta. \quad (42)$$

Setting $\varpi = \eta - \tau$ and after some computations, we arrive at

$$\mathbb{ML}_{\lambda \{0\}} \{ {}_0\mathbb{D}_\eta^{-\varsigma} f(\eta); \varphi \} = \frac{1}{\varsigma} \int_0^\infty (1 + \lambda \varphi)^{-\frac{\tau}{\lambda}} f(\tau) \int_0^\infty (1 + \lambda \varphi)^{-\frac{\varpi}{\lambda}} \varpi^{\varsigma-1} d\tau d\eta. \quad (43)$$

Further simplification yields the proof of Lemma 4.1. \square

Remark 4.2. For $\lambda \rightarrow 0$ in Lemma 4.1, we have the corresponding result of the classical Laplace transform defined in equation (4) as follows:

$$\lim_{\lambda \rightarrow 0} \mathbb{ML}_{\lambda \{0\}} \{ {}_0\mathbb{D}_\eta^{-\varsigma} f(\eta); \varphi \} = \mathbb{ML}_{\{0\}} \{ {}_0\mathbb{D}_\eta^{-\varsigma} f(\eta); \varphi \} = \left(\frac{1}{\varphi} \right)^\varsigma \mathbb{ML}_{\{ \}} \{ f(\eta); \varphi \}. \quad (44)$$

Now, taking the MDLIT on both sides of equation (37) and simplifying by using Lemma 4.1, we obtain

$$\mathbb{ML}_\lambda\{\chi(\eta); \varphi\} = \chi_0 \frac{\lambda}{\log(1 + \lambda\varphi)} \left\{ 1 + \left[\frac{\varepsilon\lambda}{\log(1 + \lambda\varphi)} \right] \right\}^{-1}. \quad (45)$$

Taking the inverse transform, we obtain the solution of equation (37) as follows:

$$\mathcal{X}(\eta) = \chi_0 \sum_{s=0}^{\infty} \frac{(-1)^s (\varepsilon\eta)^{s\zeta}}{\Gamma(1 + \zeta s)} = \chi_0 \mathfrak{E}_\zeta(-\varepsilon^\zeta \eta^\zeta), \quad (46)$$

where $\mathfrak{E}_\zeta(\cdot)$ is the Mittag-Leffler function defined in the study by Wiman [38].

By applying the MDLIT on both sides of equation (39) and simplifying, we have

$$\mathbb{ML}_\lambda\{\chi(\eta); \varphi\} = \chi_0 \left[\frac{\lambda}{\log(1 + \lambda\varphi)} \right]^\omega \Gamma(\omega) \left\{ 1 + \left[\frac{\varepsilon\lambda}{\log(1 + \lambda\varphi)} \right] \right\}^{-1}. \quad (47)$$

We thus arrive at the solution of equation (39) in the form

$$\mathcal{X}(\eta) = \chi_0 \sum_{s=0}^{\infty} \frac{(-1)^s (\varepsilon\eta)^{s\zeta}}{\Gamma(1 + \zeta s)} = \chi_0 \eta^{\omega-1} \Gamma(\omega) \mathfrak{E}_\zeta(-\varepsilon^\zeta \eta^\zeta), \quad (48)$$

where $\mathfrak{E}_\zeta(\cdot)$ is the Mittag-Leffler function defined in the study by Wiman [38].

By applying the MDLIT on both sides of equation (40) and after some simplifications, we obtain

$$\mathbb{ML}_\lambda\{\chi(\eta); \varphi\} = \chi_0 \left[\frac{\lambda}{\log(1 + \lambda\varphi)} \right]^\omega \left\{ 1 + \left[\frac{\varepsilon\lambda}{\log(1 + \lambda\varphi)} \right] \right\}^{-(\delta+1)}. \quad (49)$$

Therefore, the solution of equation (40) is

$$\mathcal{X}(\eta) = \chi_0 \sum_{s=0}^{\infty} \frac{(-1)^s (\varepsilon\eta)^{s\zeta}}{\Gamma(1 + \zeta s)} = \chi_0 \eta^{\omega-1} \mathfrak{E}_{\zeta,\omega}^{\delta+1}(-\varepsilon^\zeta \eta^\zeta), \quad (50)$$

where $\mathfrak{E}_{\zeta,\omega}^\delta(\cdot)$ is the generalized Mittag-Leffler function defined in the study by Prabhakar [37].

5 Conclusion

In this work, we are thrilled to have developed various properties of the MDLIT given in equation (3), such as convergence properties, transition theorem, convolution theorem, differential operator, and integral operator. Not only can this transform be used to solve initial value problems and fractional kinetic equations but it is also applicable to a wide range of other equations, including integral equations and differential equations. The outcomes attained here are likely valuable in applied science, engineering, and technology concerns – an exciting prospect that has been motivated by recent literature [26] and [27].

Acknowledgements: The authors extend their appreciation to the Deanship of Scientific Research at King Khalid University for funding this work through a Large Group research project under grant number RGP2/25/44.

Funding information: This work was funded by the Deanship of Scientific Research at King Khalid Funding: University through a large group research project under grant number RGP2/25/44.

Author contributions: Methodology, Y.M. and M. A.; formal analysis, M. A. and H.A.; investigation, Y.M., M. A., and H.A.; writing – original draft, Y.M. and M.A.; writing – review & editing, Y. M., H.A., and M.A.; supervision, M.A. All authors have read and agreed to the published version of the manuscript.

Conflict of interest: This work does not have any conflicts of interest.

Data availability statement: No data were used to support the study.

References

- [1] L. Debnath and D. Bhatta, *Integral Transforms and Their Applications*, 3rd edition, Chapman and Hall (CRC Press), Taylor and Francis Group, London and New York, 2016.
- [2] B. Davis, *Integral Transforms and Their Applications*, 3rd edition, Springer, New York, NY, USA, 2002.
- [3] M. Casabán, R. Company, V. Egorova, and L. Jódar, *Integral transform solution of random coupled parabolic partial differential models*, Math. Meth. Appl. Sci. **48** (2020), 1–14.
- [4] M. Z. Alqarni, A. Bakhet, and M. Abdalla, *Application of the pathway-type transform to a new form of a fractional kinetic equation involving the generalized incomplete Wright hypergeometric functions*, Fractal Fract. **7** (2023), 348.
- [5] M. Abdalla, S. Boulaaras, and M. Akel, *On Fourier-Bessel matrix transforms and applications*, Math. Meth. Appl. Sci. **44** (2021), 11293–11306.
- [6] M. Abdalla, M. Akel, and J. Choi, *Certain matrix Riemann-Liouville fractional integrals associated with functions involving generalized Bessel matrix polynomials*, Symmetry **13** (2021), 622.
- [7] J. Schiff, *The Laplace Transform, Theory and Applications*, Springer, New York, 1999.
- [8] A. F. Aljohani, A. Ebaid, E. A. Algehyne, Y. M. Mahrous, P. Agarwal, M. Areshi, et al. *On solving the chlorine transport model via Laplace transform*, Scientific Reports **12** (2022), 12154.
- [9] D. Rani and V. Mishra, *Numerical inverse Laplace transform based on Bernoulli polynomials operational matrix for solving nonlinear differential equations*, Results Phys. **16** (2020), 102826.
- [10] M. Hidan, M. Akel, S. Boulaaras, and M. Abdalla, *On behavior Laplace integral operators with generalized Bessel matrix polynomials and related functions*, J. Funct. Spaces **2021** (2021), Article ID 9967855, 10 pages.
- [11] G. Karnas, *Computation of lightning current from electric field based on Laplace transform and deconvolution method*, Energies **14** (2021), 4201.
- [12] M. Akel, H. M. Elshehabey, and R. Ahmed, *Generalized Laplace-type transform method for solving multilayer diffusion problems*, J. Funct. Spaces **2022** (2022), Article ID 2304219, 20 pages.
- [13] M. Ortigueira and J. Machado, *Revisiting the 1D and 2D Laplace transforms*, Mathematics **8** (2020), no. 8, 1330, DOI: <https://doi.org/10.3390/math8081330>.
- [14] F. Jarad and T. Abdeljawad, *Generalized fractional derivatives and Laplace transform*, Disc. Conti. Dynam. Syst. Ser. S. **13** (2020), 709–722, DOI: <https://doi.org/10.3934/dcdss.2020039>.
- [15] J. Ganie and R. Jain, *On a system of q-Laplace transform of two variables with applications*, J. Comput. Appl. Math. **366** (2020), 112407.
- [16] P. Bosch, H. J. Carmenate Garcia, J. M. Rodriguez, and J. M. Sigarreta, *On the generalized Laplace transform*, Symmetry **13** (2021), 669.
- [17] T. Fitcher and M. R. Rodrigo, *A general class of integral transforms and an expression for their convolution formulas*, Integral Transform. Spec. Funct. **33** (2022), 91–107.
- [18] K. Saxena, A. M. Mathai and H. J. Haubold, *On fractional kinetic equations*, Astrophys. Space Sci. **282** (2002), 281–287.
- [19] R. K. Saxena, A. M. Mathai, and H. J. Haubold, *On generalized fractional kinetic equations*, Physica A. **344** (2004), 657–664.
- [20] A. M. Mathai, R. K. Saxena, and H. J. Haubold, *A certain class of Laplace transforms with applications to reaction and reaction-diffusion equations*, Astrophys. Space Sci. **305** (2006), 283–288.
- [21] K. P. Sharma, A. Alok Bhargava, and D. L. Suthar, *Application of the Laplace transform to a new form of fractional kinetic equation involving the composition of the Galué Struve function and the Mittag-Leffler function*, Math. Problems Eng. **2022** (2022), Article ID 5668579, 11 pages.
- [22] M. Hidan, M. Akel, H. Abd-Elmageed, and M. Abdalla, *Some matrix families of the Hurwitz-Lerch ζ -functions and associated for fractional kinetic equations*, Fractals **30** (2022), Article ID 2240199, 12 pages.
- [23] D. L. Suthar, D. Kumar, and H. Habenom, *Solutions of fractional kinetic equation associated with the generalized Multi-index Bessel function via Laplace transform*, Differ. Equ. Dyn. Syst. **31** (2023), 357–370.
- [24] O. Khan, N. Khan, J. Choi, and K. S. Nisar, *A type of fractional Kinetic equations associated with the (p, q) -extended t-hypergeometric and confluent hypergeometric functions*, Nonlinear Funct. Anal. Appl. **26** (2021), 381–392.
- [25] M. Hidan, M. Akel, H. Abd-Elmageed, and M. Abdalla, *Solution of fractional kinetic equations involving extended (k, t) -Gauss hypergeometric matrix functions*, AIMS Math. **7** (2022), no. 8, 14474–14491.
- [26] Y. Kim, B. Kim, L. Jang, and J. Kwon, *A note on modified degenerate gamma and Laplace transformation*, Symmetry **10** (2018), 471.
- [27] Y. Almalki and M. Abdalla, *Analytic solutions to the fractional kinetic equation involving the generalized Mittag-Leffler function using the degenerate Laplace-type integral approach*, Eur. Phys. J. Spec. Top. **232** (2023), 2587–2593, DOI: <https://doi.org/10.1140/epjs/s11734-023-00925-2>.
- [28] T. Kim and D. S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Russ. J. Math. Phys. **24** (2017), no. 2, 241–248.
- [29] M. S. Alatawi and W. A. Khan, *New type of degenerate Changhee-Genocchi polynomials*, Axioms **11** (2022), 355, DOI: <https://doi.org/10.3390/axioms11080355>.

- [30] M. Akel, A. Bakhet, M. Abdalla, and F. He, *On degenerate gamma matrix functions and related functions*, Linear and Multilinear Algebra **71** (2023), 673–691.
- [31] T. Kim, D. S. Kim, *Degenerate zero-truncated Poisson random variables*, Russ. J. Math. Phys. **28** (2021), no. 1, 66–72.
- [32] T. Kim, D. V. Dolgy, D. S. Kim, H. K. Kim, and S. H. Park, *A note on degenerate generalized Laguerre polynomials and Lah numbers*, Adv. Difference Equ. **12** (2021), 421.
- [33] T. Kim and D. S. Kim, *Some identities on truncated polynomials associated with degenerate Bell polynomials*, Russ. J. Math. Phys. **28** (2021), 342–355.
- [34] F. L. He, A. Bakhet, M. Akel, and M. Abdalla, *Degenerate analogues of Euler zeta, digamma, and polygamma functions*, Math. Problems Eng. **2020** (2020), Article ID 8614841, 9 pages.
- [35] K. Nantomah, *Certain properties of the modified degenerate gamma function*, Journal of Mathematics **2021** (2021), Article ID 8864131, 6 pages.
- [36] A. M. Mathai and H. J. Haubold, *An Introduction to Fractional Calculus*, NOVA Science Publishers, NY, USA, 2017.
- [37] T. R. Prabhakar, *A singular integral equation with a generalized Mittag-Leffler function in kernel*, Yokohama Math. J. **19** (1971), 7–15.
- [38] A. Wiman, *Über de fundamental satz in der theoric der funktionen $E_\alpha(x)$* , Acta. Math. **29** (1905), 191–201.